A1 =TV A — DA RERERR

T RE i EE iR
OIS MIEISEIERT PA—1000
OBIEAE B NEEZDH E1mTHRIE
s N BIEE

ﬁﬁn&% /E\I]JEE E%Fﬁﬁ (7’(7'3“\/_/{”/'“/5#)
WEASa=T1tE 52— 128168 9:05 0.054
BXEIS 1Tt 459— 128128 9:00 0.093
MERaZIa=—FTostE52— 12816H 9:00 0.069
dtREFAAZTA =T E— 128118 15:00 0.048
MBI =T1t U4 — 128 18H 9:15 0.080
EEEIS A =TS — 128128 14:30 0.056
BRKEIAS2 =Tt 53— 128138 11:00 0.068
FHRAZ2 =Tt 48— 128178 15:30 0.055
RIS =T R— 128138 11:20 0.067
HHEIZ 2T 48— 128138 9:05 0.079
BHaSa =T33 — 128128 10:00 0.079
HEISA=T1EUE— 128138 9:00 0.068
KFaZa=F1t4— 128138 10:00 0.052
FMNISa=T1E 52— 128168 9:30 0.074




